CLASS : 10th (Secondary) Code No. 1110
Series : Sec/Annual Exam.-2024

Roll No. SET : A

UATgT
PUNJABI

(Academic/Open)
(Only for Fresh/Re-appear/Improvement/Additional Candidates)

T : 3 We ] [ & »a : 80

fqun™ 77T &9 B fa o yAd-U3T €9 84 dfsw el Afn 8 w3 yid 12 &

fawnm ya €7 839 [BYST AT d95 3 UlIST YRS €T g'a 799 184/

Wyl BT yRFaT @9 8T UsT/ U 3T 851/

BSa-yrfzar € ffseT a8 da Al 397 HBdit [F7 B8 ga< Jf B85 #3 Bl 633 37 ae/

YierHag; HST 38 3. YHS-UIT I Hdd 18YS| 38 FFT & &5 A YHE UIT T I¥ AT IBY M3
feasfya yga € 8397 '3 aet BrE 3T §276 |

fawn yrs™ er 837 e I uldsT foT @Y & [a yREa-YIT YaT H3 Sla I/ ydifeHT € gue fer
He¥g feg aet & e ag1° iz FAear/

1110/(Set : A) P.T.O.



(2) 1110/(Set : A)

3 : HT y§d 95 Hgdl I5/

1. 35 fou 43 § Uz & Us I° yast € €39 fzu :
Hout Al oY d9s et gfemT J| fAgsT Adld wiag feg Uer I, o< <t 3at &dt 5=
AaeT| fAgsT Adle  aH &9t d9er, 8 geds € fedu 1 I It A3 Fald § At M3 mdar g
AIET J1 dH 3T d96 & HaY § It UAT &d1 J9eT| 993 &9 an & It yAT Hiewr ater 31

(i) vaHt matg fam et gfemr g7 2
(i) fogus mdle ae =t Jait adt geer? 2
(iii) o<t fMedy fod | 1
2. (i) ‘7o fugse 3 g mae 5= 1
(ii) ‘g€’ warz9 3 ffa maw s 1
(iii) €7 g fiet &t T 3 Yoy < (FUds TF §=°C) 1
(iv) Sar 8 gt & 3BT JaT 76 | (S0 99 TF §°F) 1
(v) fafour fadat yarg & get 37 ’
(vi) HOHI3 S user J| (Jfaz »iug & &e g<) 1
3. 5 fou gg-fegmut yast <9 Adt €39 o< d fayu - 1x4=4

(i) Hu mge g :

(®) s9=z (W) =93

= )

(T) =3 (M) dHJ3

J
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(3) 1110/(Set : A)

(iii) fresT mee &< & g 3 <&fanr 7=, Gu e T :
(&) 3=
() UIE=
(z) fafemr
(7) femme

(iv) aad et fdstut famit detnt g ?
(€) Tw
(»1) UHA

-~

() &

9]

(7)
4. I fau =q § fema &g sar o 34 : 3
H™HSd #T »iF 3AT gt € oy JyaT €
5. 35 f8u Ho=font {39 fan fa vo=d & »ow Afds = <9 =93 : 2
i) d90S F9T

(ii) do® gIaT
1110/(Set : A) P.T.0.



(4) 1110/(Set : A)
6. I fau fefmrt fa5 fan fa few €3 &3 ¢ gafat @ mog '3 200 Aaer v @y fsg : 5

(i) HIE® S6-39 3 Tamit

33 : — HY9 T Jovs-funmar Aus, daest T Suer yuss, wefaa €53t T Aus,

fem-uygue = Fus, Ao &Tt Tstdaa |

(i) fefewast 3 a7

393 : — Bt €T uATg, SHT-339, JAesT @ gfig IIT=de, HgHdrdl, IId® WHd, H9-

|

(iii) s93 <9 <u oot »revet
593 : — AT < mifpdT, @0 € 9%, w9 € ATUS, AT9-MiF |

7. J5 f&g zafadt € mmu9 '3 IE B U39 By 5
MUE IH € HY H3dt § e st oot 853t ad fa 398 ngs f9 dast sifewrug & ydg
3T A=
3a3 :— HAfSTT Wal, AFS € UIT, 39 I gauel @ YAt wiformug a9t feferraghat &t
AftdT, UgTET € gaA's, Y§U dds € §53T, Usew|

Ar
nyE g¢ g9v & foat fay, fam f<e Gng dfuBes & GutiasT 3 HI33T &ne I8 femet fAfunrr
BT mE Agw e
33 :— UUT u3H, ©A=t € fouse W 3T g, Mt sgge &7 Jad, dfuged <f
frumTet, Enat QUTfaaT 3 HI33T, A%T Has Bet, I &@f il
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(5) 1110/(Set : A)
8. Iz fou ymst © €39 g # & muer <9 foy - 1x6=6
(i) = <9 fagsr 33 Hge der J7
(ii) =9 = 9% faw & Sfowr?
(iii) fenrg AN ISt © we fagz Iz are A 57
(iv) 99 I sl & gmifes € ot &F At?
(v) 3 ST a B &9 de AT 757

(vi) IH A&t 3 o = fam gta € Har g9er 37

9. Jo feu gy feamut yast € mdt €39 5 d fa4 - 1x7=7
(i) wf3ge & A= d< 9t F9er?
(€) wanfy (vl)  Jraufa
(g) foumait (/1)  arfowst

EN

(ii) Um-ut fam & fagr fapr 2
(€) ==t @ (m) W9 &
(g) wfenr & () da9g &
(i) sAar & fagst shit At ?

EN

(&) = (M) AT
(T) UBE (M) da&T
(iv) Tug ¥aH I WAt WisTamt fog aret?
(&) o as (M) BB IS
(T) "Bt 3% (m) fazg =t &t
1110/(Set : A) P.T.O.



(6)
(v) diet gat € fugr & &t & "t e?
(8) I IvE™w (") TG MIAS
(g) g wiae (F) Qg »MHIe™H

(vi) fom & fagr At "9 Has €3 &t T wz's adt daaT?

(8) 3. WEE® Ta&H 3 (v1) feear ardt &

(g) gTHi= Irat & (7)  fieur fAw &
(vii) &'aa fAw € g9us e & at At ?

(€) nst (v) Tg

() ya™ (7) 7 I+

10. 35 fsi yast & €39 20-25 Fyer &9 fah -
(i) =r<u I &t g= I?

(i) BUBME SaTude WSt aie fa< ydt d9 Ber Al ?

(iii) wo € Hes &9 3ua § fdgt 3zt & ygrfes aiz3m?
(iv) <9t gmiest &9 3t € ot a9 A ?
(v) o<t»r 3 3oz & fad fag & a fe3 ms?

(vi) d3=® mrert § fag waer J7?

(vii) fweur fiw & fd& €3 yarafent &g fdar femr 3 fdfent fee Az yuzs aist?

(viii) 37. »Ee® IS € foet-gfoest fad faat At ?
11. J5 fay gfelfent &9 fan g € yrdar Afgs feurrfmr a9 :
ga3t Har de &9 »re, der € Y33
H'&S3T € Jaadr AeT, Jfdet gat 3|
gyt '§ It g9 A§, ged3s T fAgsT=r,
Jut g% uaSt fier fos dfowt @ wet)
1110/(Set : A)

1110/(Set : A)

2x8=16



(7) 1110/(Set : A)

figer &t fimrst w39
fes & 8y g<teT|l IwE I
dfe I&ar a3 &9

7 3t sfea st 391

ute gear urst @y

12. 5 fsi yast & €39 30-35 myet &9 fah - 3x6=18
(i) g Guew afesT & Jedt = fau|
|
‘Wre dardt @ qfe3sr &9 wme fegat e A9 &y |

(i) dag 9 wee wils Jo8 uet € Aig He® fa= FISt A Aaer J7
|
St 3T A &% af ger 37
(iii) ‘EEes’ Fuet 9 geds € 9l §9 yg= ©F I’ 957
|
Had Idar & g AT fen Aae <9 en AT, 3t gt af Jae ?
(iv) UoH ¥9 3. I&™H € &t fe99 A5 ?
|
> fAw € s9us 979 IRt ot ATee 37

1110/(Set : A) P.T.O.



(8) 1110/(Set : A)

(v) &9 3 A&l & Ifd39 9395 a9

Y @H @ 9fd39 f939® a47?
(vi) ‘Tfrdm g1 aafemm featat = ot G<m 92
Cu

IJHT I AT I3 T ot due I5?

1110/(Set : A)



